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IEENGINEERING MECHANICS
5. As show

in Fig. 3, the motion of a particle P cau be represcuted by

P

r(0) = 14 ecosf

where p anc) e are constant.
(a) Determine the velocity and acceleration of the particle at the position

(r,0) using e, and €y as unit vectors. (10%)
(b) Determine the velocity and acceleration of the particle at the position
(r,0) using unit tangent vector e, and uhit normal vector ey. (10%)

Figure 3

6. .A.bmﬂ, hol.ding horizontally a flywheel of with constant angular velocity
ponn.tmg jto his left, is sitting on a chair, which can rotate freely about its
vertical axis as shown in Fig. 4. Discuss what would happen if the boy rotates
the ﬁywlipel clockwise as viewed from the boy’s side. (20%)
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Figure 4




